Computer Application (12th Class)
Model Test Paper (For Hearing Impaired Students)

Time: 3 hours Theory: 60 Marks

Structure of Question Paper

1. There will be three sections of Question Paper (Part- A, Part- B and Part- C).
2. In Part- A, there will be 18 objective type questions from Question No. 1 to 18,
each question will be of two marks each.
3. In Part -B, there will be 8 Questions from Question no. 19 to 26, each questions
will be of three marks. Attempt any 4 questions out of 8.
4. In Part -C, there will be 6 Questions from Question no. 27 to 32, each question
will be of four marks. Attempt any 3 questions out of 6.
Part- A
18 X2 = 36
1) Name any two operators used in C++?
2) A group of characters that a language can recognize is called?
3) Name any two data types used in C++?
4) The special symbols used for specific purpose in C++ are called?
5) Define nested loop?
6) Name any two jumping statement?
7) A collection of variable of same data type is called?
8) Variables that are declared inside a function or block are called?
9) Which variables are defined outside of all function, usually on top of the
program?
10) A will have exact same name as the class prefix with a tilde(~).
11) What is the simplest form of multidimensional array?
12) Which member variable or function is very similar to private member?
13) Child class is also called?
14) What is the full form of WAN?
15) What are the components of data communication?
16) In hierarchical inheritance, how many classes may be inherited by more than one
class.
17) allows different initialization modes using overloaded constructors.
18) A derived class with only one base class is called?
Part -B
Attempt any 4 questions out of 8:- 4X3=12

19) What do you mean by return type?
20) What is a compound statement?
21) What is operator?




22) What is meant by an object?
23) Define an array.
24) What are the advantages of network?
25) What do you mean by constructors?
26) Define encapsulation.
Part -C
Attempt any 3 questions out of 6:- 3X4=12
27) Explain the difference between Bus Topology and Ring Topology.
28) What is difference between gets() and puts() functions.
29) Explain the Punctuators in C++ language.
30) What is array of objects? Explain.
31) What do you mean by character literal? Also explain escape sequences.
32) What are base class and derived class? Explain with example?
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18 X2 = 36
1) C++f2g =393 AT @3 dct € Gudeat @ &+ TR
2) »aIt T AHT # fa fea 3 enrar =93 A I6 Gof ¢ ot fxar Ater 32
3) C++fog e93 e @8 I © 52T ¥ @ 5H R
4) C++feg gz um fidg ur 4 Bt =93 A J6, 87 § ot afde I67?
5) 3Afes BU ST 37
6) ITt @ HfUdr ASZAE T &™H SHI
7) fe& 39t @ 32T oy 2 TR @ AYT § o faar Ater 32
8) frx Sxme A Tux &g 3@ I @& dtess § df faar Aarer 32
9) fxa2 FTT® AT SaHs 3 I99 W3 »iH 39 3 YdI9'H € AT 3 QU

et a3 AT 37
10) fex 2 &5H IBH T &H & nidl TESS (~) € 85 sara fead
J=2ari

11) HBABENoHGS NI T AT 3 TS g9H faast 37
12) fxozT A'ag SA2as A i YEiRe NEg € 37 der 32
13) IS a&'H § I9 At faar AT 3?7
14) WAN &7 g™ &™H €H|
15) s'2T IfHESIAHE © s oA faaz fags a&1
16) J9as feaddien 2o faghn s fea 3° <o a&H o fesddie I
ATt I51
17) EIBS5Tr TAeIScT ©f T93° TN o < fEsimsenias HsA
€t mirfamrr &St T
18) e sofees aow far €t fex It 8F A 9° 8r § ot fagr Aer I7
Part -B
Attempt any 4 questions out of 8:- 4X3=12
19) f32gs 2 3 IAT St AHST I°2
20) IUQS ASSHE & I ?
21) GuIzg it T2
22) nirERae 3° IAT & AHST 92
23) MJ of T2
24) dc<IX © T'F THI
25) FASAST 3 IAT ot AHSE I°?
26) fesaumdaAs ot 7

Part —C
Attempt any 3 questions out of 6:- 3X4=12



27) Bus topology »= Ring topology f&g & »izg 32

28) gets() M3 puts() Sxme &9 &t »izg T2

29) C++ gar &g Ug@=an <t fennfimrr &31

30) nrERde © AT Tt fenrfimr 91

31) IFXST fBeas 3 AT &t AHST T2 AAAY fRASHA I3 TR
32) IH IBH M3 IITTIT IHH &t T? Qeags Afax fenrfumr &3




